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4 11)
%% 12)
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775, 15)
pieh
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6
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4
27 2)
2
18 3)
12
20 4)
3
28 5
1
36 g
4
24 7)
9
20 8
8
24 9)
2
20 10)
5
36 11)
1 12)
100 13)
6
18 14)
3
10
3 15)
40
16
4.2 8 m )
17)
2.1_2
5X3 =g oups
7.1_17
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done
(200) x (60) = (12,000)
179 x 57 = 10,203

(900) x (10) = (9,000)
902 x 11 = 9,922

L322 sps

3%3 g %P

365 x 25 = 9,125
3,2_5

676 6
5,1.20 6 _26
6 4 24 24 24
or 152— cups

9)

10)
11)
12)

13)
14)
15)

16)

17)

18)
19)

VAN

(100) x (50) = (5,000)
125x 51 = 6,375

(300) x (40) = (12,000)
254 x 35 = 8,890

(600) x (30) = (18,000)
563 x 26 = 14,638

17 5/6
49 3/8
229 1/2

11,1 _ 44 30 _ 74

30 "4 T 720 1120 T 120
250 x 51 = 12,750"

12 +17 + 28 = 57"
AR LR A7 A7 ¥ R = 141
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100 100

o 10 10+6 _ 10 4
) 56 1) done ) 8,10 64106 1) B _TL— _é(,_ or 13
2 2) done 15 15 1 10
2 18 15,16 _15+16 _ 1 9 F.2-4:2-7
3) —_— e — = — g_g_3+2_3 _‘]_ 5 5 1
24" 24 1 16 2) 2+£=222_29 o 1
4 6 6 1 2 2 12 .5 _12+5 _12 2
3) 18 12 .8 _12-8 _12 4 3) Erp=—S—=-For 2%
g 12,8 _12:8_12 , 44 15 15 1 5 5
0. & -4d 1616 1 8 8 3 10.12_10:12_10
gy 495818 . 1515 1 1 4 3x1_3
1515 15 5 4.,2_4+2 o §7°8° 32
16 15 _ 1 ¢ @ 8 .8 _8+8
18, .15, .1 8 .8 _8+8_ 2.1_2
Y 40720° %0 g Llilef, 2 _ 842 4 Y T T 5 X518
5 10 17 2°8 16 16 1
6 51211 . . 6,16
20 720 ~ 20 7 2.1.12,.3 _12:3_, 5) 2.8 -5:6._3 ® §X373
2 _ 51 40 _ 91 31 3°6 18 18 1 1515 1 6
J_Z_+_:_+_Q=_ or 1=— ‘ 12 3 9
20 3 60 60 60 60 6 1 24 8 2448 7)) - e=
8 gry=Ss+as=o=3 6 1.1.9.3 _9:3 4 1818 18
7) 40,24 379 27 27 1 B 41
48 ~ 48 & 6- 1" 10
27 _ 20 ' 7y 4.1_40 .5 _40-5_g
B S 5 10 50 50 1 g} Sgd-L
6 6 6
24 _ 24 1.1_6 .3 _6+3 7.4_35 24 _59 29
9 £r-=2t 1.,1_.6 .8 _6=+3_ 7,4_35 24 59
) 327 % 8 3*5 18 8- 1 2 67530 T30 " 30 " a0
10) (600) x (60) = (36,000) 10) 3,572
558 x 62 = 34,596
’ 11
11) (400) x (80) = (32,000) 108 ) 8,585
407 x 83 = 33,781 12 .5 _12+5_12 2 Don't forget that the last step in 12) 36,159
1) &= +-2= === or 2
12) (300) x (10) = (3,000) 20 20 1 5 5 these problems is optional for now. 13) done
349 x 12 = 4,188 _
o) 18..4 _18:4_18 , 42 14) (500) + (50) = (10)
2 24 24 1 4 4
13) 182 15) (600) + (30) = (20)
3 2.4_3:4_3
14) 157 12°12° 71 4 16) 1x2=2
3 16 .15 _16+15 _1 1 L
15) 59= 16 .15 _16:15_16 4
5 Y 242 1 15 O 175 17) 4,112,686 _12:6_,
Sxl-3 ¢ 63 18718 1
" TReTh 5 5 .16_5+16_5
20 20 1 16 19) 141-86,2 _38 n
17) 4_1_12 5 _7 nmie 2 6 12 12 12 o
5 3 15 15 15 6) Sel-24. 4 24+4 g S
. 478 32 32 1 =
1. - =
18) gxgy=g; 160f12=2 . %;L_%‘:g a
1
19) 13+19+26=58" 410 a
5.1 _5=+1 -
20) 1/20f30 =15 8 % 61 -° >
O
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1)
2)

10)

11)

12)

13)
14)

15)
16)
17)

18)

1B+0udidxRuf
10+8m22x3m0
24+4mB,6x3=18
15+83=6,56x1=5
25+5=5;5x4=20
14+7=2;2x5=10
B4 ) B 8,
6 12 18 24

56 56 56

21 _25
35 ~35
24 _24
48~ 48
16 12
24~ 24
20,8 _38
80 '80 80

38,2 _190 , 160 _ 350
80 5 400 400 400

10)

20)
21)
22)
23)
24)
25)
26)

27)
28)

29)

30)
31)
32)

33)

34)

35)

Bofed=d-od
final step optional
16 417 + 28 = 61

46 + 23 4+ 46 + 28 = 138 yds
52 + 52 + 52 + 52 = 208"

90

50

600

500

~
—_

€ 2
®lw wjnn 9w

18 18 18
10+11+10+11 =42
117 0t 42=6'

10)
11)
12)
13)
14)

15)

16)
17)
18)

19)

(600) x (50) = (30,000)
612 x 54 = 33,048
(100) x (40) = (4,000)
124 x 36 = 4,464
(1000) x (10) = (10,000)
957 x 13 = 12,441

3,1_3
8277
3/8 of 48:

48 + 8 = 6; 6 x 3 = 18 had burgers
3/16 of 48:
48 + 16 = 3; 3 x 3 = 9 had mustard

"
9)

4)

10)
11)

12)

13)
14)
15)

16)
17)

18)
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(500) + (40) = (10)
(900) + (30) = (30)
(600) + (60) = (10)
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